Further Maths GCSE
Trigonometry
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Work out the angle between VC and the plane ABCD
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   Calculate the Bearing of D from C to the nearest degree
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   Work out the angle between MB and the plane ABCD
   Work out the obtuse angle betweent the planes MNB and CDHG
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   Work out the angle between VA and the plane ABCD
   Work out the angles between the planes VQR and PQRS
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ABCDE is folded along AC so that B is vertically above the midpoint of DE.
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Work out the angle between the planes 4BC and ACDE.




image8.png
The area of this triangle is 27 cm?.
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Work out the size of obtuse angle p.
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The diagram shows a vertical mast, AB, 12 metres high.
Points B, C and D are on a horizontal plane.

Point C is due West of B.

The angle of elevation of A from C is 35°.

Point D is due South of B.
The angle of elevation of A from D is 23°.
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Calculate the distance CD.
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ABCDEFGH is a cuboid.
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Work out the angle between EC and ABCD.
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ABCDEFGH is a cuboid.
M is the midpoint of HG.
N is the midpoint of DC.
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Show that BN =7.5m
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The diagram shows a cuboid ABCDPQRS and a pyramid PQRSV.
Vis directly above the centre, X, of ABCD.
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The total height, VX, is 5 metres.




image1.png
Show that angle x = 60°
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You must show your working.
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Triangle ABC has an obtuse angle at C.
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Given that sinA = i use triangle ABC to show that angle B = 60°
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XYZ is a right-angled triangle.
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Use triangle XYZ to show that sin60° =
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In the diagram, DCB is a straight line.
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Work out the length of DC, marked x on the diagram.

Write your answer in the form a — b




image5.png
VABCD is a rectangular based pyramid.
AB=12c¢m, BC=10cmand VC=14cm

The base ABCD is horizontal and the vertex Vis directly above X, the centre of the
base.

A 12cm

Work out the height of the pyramid, VX.
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ABCDE is a piece of card in the shape of a rectangle and an isosceles triangle.
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ABCDE is folded along AC so that B is vertically above the midpoint of DE.




